Introducing Multiplication in 2s

Count in 2s.

There are 5 pairs of shoes. How many shoes are there altogether?

shoes

There are 4 pairs of hands. How many hands are there altogether?

There are 7 pairs of wings. How many wings are there altogether?

PV VS VI G Vi
VAV AV

There are 6 pairs of socks. How many socks are there altogether?

85555 R =

There are 9 pairs of ears. How many ears are there altogether?
EYEYEVEVED
EYEYEYEY ==

Challenge
Draw 18 shoes in pairs. How many pairs are there?
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Introducing Multiplication in 2s

Count in 2s.

There are 5 pairs of shoes. How many shoes are there altogether?

shoes altogether.

pairs of shoes is

There are 4 pairs of hands. How many hands are there altogether?

pairs of hands is hands altogether.

There are 7 pairs of wings. How many wings are there altogether?

pairs of wings is wings altogether.

There are 6 pairs of socks. How many socks are there altogether?

pairs of socks is socks altogether.
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Introducing Multiplication in 2s

There are 9 pairs of ears. How many ears are there altogether?

pairs of ears is ears altogether.

Challenge
There are 8 pairs of shoes. How many shoes are there altogether? Write
the number sentence.

X =
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Introducing Multiplication in 2s

Count in 2s.

There are 5 pairs of shoes. Write the number sentence using x and =.

Solve the following problems by multiplying in 2s. Write the number
sentence using x and =.

There are 4 pairs of hands. How many hands are there altogether?

There are 7 pairs of wings. How many wings are there altogether?

There are 6 pairs of socks. How many socks are there altogether?
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Introducing Multiplication in 2s

There are 9 pairs of ears. How many ears are there altogether?

Challenge
There are 18 shoes altogether. How many pairs are there? Write the
number sentence using x and =.
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Introducing Multiplication in 2s

Answers

There are 5 pairs of shoes. How many shoes are there altogether?

10 shoes

There are 4 pairs of hands. How many hands are there altogether?

8 hands

oot oot

There are 7 pairs of wings. How many wings are there altogether?

PV VS VI G Vi

14 wings

VAV AV

There are 6 pairs of socks. How many socks are there altogether?

12 socks

DR

There are 9 pairs of ears. How many ears are there altogether?

EYEYRYEDEY

18 ears

EYEYEDEY

Challenge
Draw 18 shoes in pairs. How many pairs are there? 9 pairs

< «




Introducing Multiplication in 2s
Answers

There are 5 pairs of shoes. How many shoes are there altogether?

5 pairs of shoes is 10 shoes altogether.

There are 4 pairs of hands. How many hands are there altogether?

4 pairs of hands is 8 hands altogether.

There are 7 pairs of wings. How many wings are there altogether?

7 pairs of wings is 14 wings altogether.

There are 6 pairs of socks. How many socks are there altogether?

6 pairs of socks is 12 socks altogether.

There are 9 pairs of ears. How many ears are there altogether?

9 pairs of ears is 18 ears altogether.

Challenge
There are 8 pairs of shoes. How many shoes are there altogether? Write
the number sentence.

2x9=18
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Introducing Multiplication in 2s
Answers

There are 5 pairs of shoes. Write the number sentence using x and =.

2 x 5 = 10 shoes

Solve the following problems by multiplying in 2s. Write the number
sentence using x and =.

There are 4 pairs of hands. How many hands are there altogether?

2 x 4 = 8 hands

There are 7 pairs of wings. How many wings are there altogether?
2 x 7 = 14 wings
There are 6 pairs of socks. How many socks are there altogether?

2 x 6 = 12 socks

There are 9 pairs of ears. How many ears are there altogether?

2 x 9 =18 ears

Challenge
There are 18 shoes altogether. How many pairs are there? Write the
number sentence using x and =.

2x9=18
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